			1		2		3		4		5		
FY07 WATER & SANITARY SEWER SERVICE INSTALLATIONS			DOT Construction, Inc. Charlotte, NC		B.R.S., Inc. Richfield, NC		Dallas 1 Construction, LLC Charlotte, NC		State Utility Contractors, Inc. Monroe, NC		Dellinger, Inc. Monroe, NC		
SECTION I - COMMON ITEMS													
												1	
1 FOR MOBILIZATION TO THE PROJECT SITE, AS SPECIFIED												1	
A "TYPE A" MOBILIZATION	1	LS	\$270,000.00	\$270,000.00	\$30,000.00	\$30,000.00	\$40,000.00	\$40,000.00	\$60,500.00	\$60,500.00	\$52,000.00	\$52,000.00	
B "TYPE B" MOBILIZATION	400	EA	\$500.00	\$200,000.00	\$750.00	\$300,000.00	\$800.00	\$320,000.00	\$735.00	\$294,000.00	\$1,050.00	\$420,000.00	
C "TYPE C" MOBILIZATION	5	EA	\$75.00	\$375.00	\$400.00	\$2,000.00	\$800.00	\$4,000.00	\$55.00	\$275.00	\$3,600.00	\$18,000.00	
2 FOR SOLID ROCK EXCAVATION, AS SPECIFIED, COMPLETE IN PLACE													
A FOR THE FIRST 5 CY PER PROJECT	10	CY	\$100.00	\$1,000.00	\$80.00	\$800.00	\$100.00	\$1,000.00	\$110.00	\$1,100.00	\$165.00	\$1,650.00	
B FOR ADDITIONAL ROCK EXCAVATION AFTER THE INITIAL 5 CY PER PROJECT	50	CY	\$25.00	\$1,250.00	\$35.00	\$1,750.00	\$50.00	\$2,500.00	\$45.00	\$2,250.00	\$97.00	\$4,850.00	
FOR CUTTING (SAWING) AND REPLACING ALL ASPHALTIC PAVEMENT AS SPECIFIED.				, ,		. ,		, ,		. ,		1	
COMPLETE IN PLACE												i	
A FOR CUTTING (SAWING) ASPHALT PAVEMENT	3,000	LF	\$1.50	\$4,500.00	\$3.00	\$9,000.00	\$2.00	\$6,000.00	\$3.00	\$9,000.00	\$2.20	\$6,600.00	
B FOR REMOVING AND DISPOSING OF ASPHALT PAVEMENT			Ţ	<b>V</b> 1,000100	70.00	40,000.00	<b>V</b>	40,000.00	<b>V</b>	40,000.00	<b>V</b>	40,000.00	
a 0"-3" DEPTH	250	SY	\$3.00	\$750.00	\$3.50	\$875.00	\$3.00	\$750.00	\$3.00	\$750.00	\$4.00	\$1,000.00	
b 3"-6" DEPTH	600	SY	\$2.00	\$1,200.00	\$4.50	\$2,700.00	\$6.00	\$3,600.00	\$3.00	\$1,800.00	\$5.00	\$3,000.00	
CIFOR EACH ADDITIONAL 3-INCH DEPTH OF REMOVAL AND DISPOSAL OF ASPHALT PAVEMENT	300	1	Ψ2.00	ψ1,200.00	ψ 7.00	Ψ2,100.00	\$5.00	ψ0,000.00	Ψ5.00	ψ1,000.00	Ψ0.00	ψ0,000.00	
(will be in addition to item (b) above)	200	SY	\$2.50	\$500.00	\$3.00	\$600.00	\$3.00	\$600.00	\$45.00	\$9,000.00	\$4.00	\$800.00	
C FOR REPLACING ASPHALT PAVEMENT (INCLUDING 1-2)	200	31	φ2.50	\$300.00	φ3.00	\$000.00	ψ3.00	\$000.00	\$45.00	\$9,000.00	\$4.00	\$600.00	
all6-INCH DEPTH	600	SY	\$35.00	\$21,000.00	\$33.00	\$19,800.00	\$40.00	\$24,000.00	\$53.00	\$31,800.00	\$34.50	\$20,700.00	
	300	SY	\$40.00	\$12.000.00	\$38.00		\$47.00		\$60.00				
b 8-INCH DEPTH	300	31	\$40.00	\$12,000.00	\$36.00	\$11,400.00	\$47.00	\$14,100.00	\$60.00	\$18,000.00	\$40.50	\$12,150.00	
D FOR ADDITIONAL 4-INCH DEEP BINDER COURSE (WILL BE IN ADDITION TO ITEMS C. (a) or (b)	200	01/	<b>#</b> 40.00	<b>#0</b> 000 00	040.00	<b>#</b> 0.000.00	07.00	<b>#4 400 00</b>	<b>#05.00</b>	<b>#7</b> 000 00	044.50	<b>#0.000.00</b>	
above)	200	SY	\$10.00	\$2,000.00	\$10.00	\$2,000.00	\$7.00	\$1,400.00	\$35.00	\$7,000.00	\$11.50	\$2,300.00	
E FOR 1-INCH DEPTH OF 1-2 OVERLAY (Surface Course)	200	SY	\$8.00	\$1,600.00	\$8.00	\$1,600.00	\$10.00	\$2,000.00	\$25.00	\$5,000.00	\$11.00	\$2,200.00	
F FOR REMOVING AND REPLACING ROLL TYPE FULL DEPTH COMPACTED ASPHALT CURBING			4			4					4	1	
(hand placed or by machine - contractor's option)	10	LF	\$10.00	\$100.00	\$13.00	\$130.00	\$12.00	\$120.00	\$4.00	\$40.00	\$8.00	\$80.00	
FOR CUTTING (SAWING) AND REPLACING CONCRETE DRIVEWAYS AND WALKWAYS, AS												i	
SPECIFIED, COMPLETE IN PLACE													
A FOR CUTTING (SAWING) CONCRETE	500	LF	\$2.50	\$1,250.00	\$2.00	\$1,000.00	\$3.00	\$1,500.00	\$4.00	\$2,000.00	\$4.00	\$2,000.00	
B FOR REMOVING & DISPOSING OF CONCRETE													
a 0"-4"DEPTH	200	SY	\$4.00	\$800.00	\$6.00	\$1,200.00	\$7.00	\$1,400.00	\$5.00	\$1,000.00	\$5.50	\$1,100.00	
b 4"-8" DEPTH	200	SY	\$3.00	\$600.00	\$6.50	\$1,300.00	\$8.00	\$1,600.00	\$5.00	\$1,000.00	\$6.50	\$1,300.00	
c FOR EACH ADDITIONAL 2-INCH DEPTH OF REMOVAL AND DISPOSAL OF CONCRETE (Will be in													
addition to Item (b) Above)	65	SY	\$3.00	\$195.00	\$3.00	\$195.00	\$3.00	\$195.00	\$5.00	\$325.00	\$4.00	\$260.00	
C FOR REPLACING CONCRETE												1	
a 4" DEPTH	125	SY	\$40.00	\$5,000.00	\$32.00	\$4,000.00	\$40.00	\$5,000.00	\$36.00	\$4,500.00	\$44.00	\$5,500.00	
ыs" DEPTH	125	SY	\$42.00	\$5,250.00	\$34.00	\$4,250.00	\$44.00	\$5,500.00	\$46.00	\$5,750.00	\$46.00	\$5,750.00	
c l6"DEPTH	125	SY	\$45.00	\$5,625.00	\$40.00	\$5,000.00	\$48.00	\$6,000.00	\$55.00	\$6,875.00	\$48.50	\$6,062.50	
d FOR EACH ADDITIONAL 2-INCH DEPTH OF CONCRETE REPLACEMENT (Will be in addition to Item	1		ψ.σ.σσ	φο,σ2σ.σσ	ψ10.00	φο,σσσισσ	Ψ.ο.σσ	ψο,σσσ.σσ	Ψ00.00	φοίοι σισσ	ψ.σ.σσ	ψ0,002.00	
(b) or (c) Above)	65	SY	\$9.00	\$585.00	\$10.00	\$650.00	\$10.00	\$650.00	\$19.00	\$1,235.00	\$10.25	\$666.25	
5 FOR CUTTING AND REPLACING CONCRETE CURB AND GUTTER, AS SPECIFIED, COMPLETE IN	1	<u> </u>	Ψ0.00	φοσσ.σσ	Ψ10.00	Ψ000.00	Ψ10.00	ψοσο.σσ	Ψ10.00	Ψ1,200.00	Ψ10.E0	Ψ000.20	
PLACE	250	LF	\$14.00	\$3,500.00	\$18.00	\$4,500.00	\$27.00	\$6,750.00	\$22.00	\$5,500.00	\$25.00	\$6,250.00	
6 FOR FURNISHING SELECT BACKFILL MATERIAL, AS SPECIFIED, COMPLETE IN PLACE	600	CY	\$16.00	\$9,600.00	\$18.00	\$10,800.00	\$25.00	\$15,000.00	\$22.00	\$13,200.00	\$23.00	\$12,900.00	
7 FOR FERTILIZING. SEEDING AND MULCHING. AS SPECIFIED, COMPLETE IN PLACE	10.000	SY	\$0.75	\$7.500.00	\$0.50	\$5.000.00	\$1.00	\$10,000.00	\$22.00	\$10,000.00	\$21.50	\$10,000.00	
	300	SY	\$1.50	\$450.00	\$1.00	\$300.00	\$1.00	\$300.00	\$1.00	\$300.00	\$2.50	\$750.00	
8 FOR CLEARING RIGHT-OF-WAY AND GRUBBING UNDERBRUSH, AS SPECIFIED	300	31	φ1.50	ֆ45U.UU	\$1.00	\$300.00	\$1.00	φ300.00	\$1.00	φ300.00	ֆ∠.5∪	\$750.00	
FOR CONSTRUCTING AND MAINTAINING VARIOUS EROSION CONTROL DEVICES, AS SPECIFIED	<b>∘</b> ∥											i	
A SILT FENCE	200	LF	\$1.00	\$200.00	\$1.00	\$200.00	\$2.00	\$400.00	\$3.00	\$600.00	\$3.00	\$600.00	
B STONE SILT CHECK DAM	200	EA	\$15.00	\$300.00	\$5.00	\$100.00	\$50.00	\$1.000.00	\$22.00	\$440.00	\$75.00	\$1.500.00	
C TEMPORARY INLET PROTECTION	1	EA	\$15.00	\$15.00	\$5.00	\$5.00	\$50.00	\$50.00	\$25.00	\$25.00	\$115.00	\$1,500.00	
	300	SY	\$3.00	\$900.00	\$2.00	\$600.00	\$3.00	\$900.00	\$25.00	\$25.00	\$3.85	\$1,155.00	
	300	ा	φ3.00	\$900.00	Φ∠.00	Φ000.00	φ3.00	φ <del>9</del> 00.00	φ3.00	φ900.00	<b>გა.</b> გა	φ1,155.UU	
10 FOR REPLACING C. A. B. C. STONE OR PIT GRAVEL DRIVES, SHOULDERS, AND ROAD, AS	200	SY	¢5.00	¢4 500 00	\$10.00	¢2 000 00	<b>\$6.00</b>	¢1 000 00	\$0.00	¢2.700.00	¢7.50	¢2.250.00	
SPECIFIED, COMPLETE	300	SY	\$5.00	\$1,500.00	\$10.00	\$3,000.00	\$6.00	\$1,800.00	\$9.00	\$2,700.00	\$7.50	\$2,250.00	
11 FOR LOCATING EXISTING UNDERGROUND UTILITIES, AS SPECIFIED	11	1	I		11				1	I			

			1		2		3		4		5	
FY07 WATER & SANITARY SEWER SERVICE INSTALLATIONS			DOT Construction, Inc. Charlotte, NC		B.R.S., Inc. Richfield, NC		Dallas 1 Construction, LLC Charlotte, NC		State Utility Contractors, Inc. Monroe, NC		Dellinger, Inc. Monroe, NC	
A LOCATING UTILITIES BY HAND OR BY MECHANICAL MEANS, AS SPECIFIED												
a LOCATING GAS MAINS	300	EA	\$20.00	\$6,000.00	\$25.00	\$7,500.00	\$20.00	\$6,000.00	\$22.00	\$6,600.00	\$25.00	\$7,500.00
b LOCATING PHONE (FIBER OPTICS) CABLES	100	EA	\$20.00	\$2,000.00	\$25.00	\$2,500.00	\$20.00	\$2,000.00	\$22.00	\$2,200.00	\$25.00	\$2,500.00
c LOCATING PHONE (NON-FIBER OPTICS) CABLES	150	EA	\$20.00	\$3,000.00	\$25.00	\$3,750.00	\$20.00	\$3,000.00	\$17.00	\$2,550.00	\$25.00	\$3,750.00
d LOCATING POWER CABLES	150	EA	\$20.00	\$3,000.00	\$25.00	\$3,750.00	\$20.00	\$3,000.00	\$22.00	\$3,300.00	\$25.00	\$3,750.00
e LOCATING CABLE TV CABLES	100	EA	\$20.00	\$2,000.00	\$25.00	\$2,500.00	\$20.00	\$2,000.00	\$22.00	\$2,200.00	\$25.00	\$2,500.00
f LOCATING STORM PIPES	75	EA	\$10.00	\$750.00	\$1.00	\$75.00	\$20.00	\$1,500.00	\$6.00	\$450.00	\$20.00	\$1,500.00
g LOCATING WATER MAINS	150	EΑ	\$20.00	\$3,000.00	\$25.00	\$3,750.00	\$25.00	\$3,750.00	\$22.00	\$3,300.00	\$20.00	\$3,000.00
h LOCATING SEWER MAINS	150	EA	\$10.00	\$1,500.00	\$1.00	\$150.00	\$10.00	\$1,500.00	\$6.00	\$900.00	\$20.00	\$3,000.00
B ADDITIONAL COSTS TO PREFORM THE LOCATE BY MECHANICAL VACUUM EXCAVATION(												
PAYMENT WILL BE MADE IN ADDITION TO ITEMS 11 A )	150	EA	\$50.00	\$7,500.00	\$150.00	\$22,500.00	\$150.00	\$22,500.00	\$55.00	\$8,250.00	\$165.00	\$24,750.00
12 FOR MAINTAINING TRAFFIC AS SPECIFIED, COMPLETE IN PLACE												
A FOR TWO (2) FULL TIME FLAGGERS WITH PADDLE SIGNS	45	DYS	\$190.00	\$8,550.00	\$200.00	\$9.000.00	\$250.00	\$11,250.00	\$330.00	\$14,850.00	\$300.00	\$13.500.00
B FOR ONE (1) PART TIME FLAGGERS WITH PADDLE SIGNS	25	HR	\$18.00	\$450.00	\$50.00	\$1,250.00	\$150.00	\$3,750.00	\$17.00	\$425.00	\$25.00	\$625.00
C FOR REFLECTIVE TRAFFIC CONTROL SIGNS (REGARDLESS OF SIZE)	25	EA	\$10.00	\$250.00	\$5.00	\$125.00	\$30.00	\$750.00	\$45.00	\$1,125.00	\$88.00	\$2,200.00
D FOR REFLECTIVE 28-INCH TALL TRAFFIC CONES	30	EA	\$5.00	\$150.00	\$5.00	\$150.00	\$20.00	\$600.00	\$6.00	\$180.00	\$20.00	\$600.00
E FOR CONCRETE BARRIERS (BORE PITS)	100	LF	\$3.00	\$300.00	\$1.00	\$100.00	\$5.00	\$500.00	\$6.00	\$600.00	\$12.50	\$1,250.00
F FOR TYPE B (30"X60") FLASHING ARROW PANEL	5	EA	\$500.00	\$2,500.00	\$1,500.00	\$7,500.00	\$500.00	\$2,500.00	\$825.00	\$4,125.00	\$775.00	\$3,875.00
13 FOR MATERIAL/DENSITY TESTING, AS SPECIFIED	— <u> </u>	L/\	ψ300.00	Ψ2,300.00	ψ1,500.00	ψ1,500.00	Ψ300.00	Ψ2,300.00	ψ023.00	ψ+,123.00	ψ113.00	ψ5,075.00
A SOILS TECHNICIAN SERVICES (FIELD SERVICES) AS SPECIFIED	400	HR	\$15.00	\$6.000.00	\$5.00	\$2,000.00	\$55.00	\$22,000,00	\$80.00	\$32.000.00	\$70.00	\$28,000.00
B	400	TIIX	\$13.00	\$0,000.00	\$5.00	\$2,000.00	φ33.00	\$22,000.00	\$60.00	φ32,000.00	\$70.00	\$20,000.00
LABORATORY TESTING SERVICES, (STANDARD PROCTOR COMPACTION TEST) AS SPECIFIED	30	EA	\$200.00	\$6,000.00	\$275.00	\$8,250.00	\$250.00	\$7,500.00	\$85.00	\$2,550.00	\$210.00	\$6,300.00
AAA HOUNDATED DAMAGES, \$400/DAV	30	DYS	-\$400.00	\$0.00	· ·		-\$400.00	\$0.00	-\$400.00	\$0.00	-\$440.00	. ,
14 LIQUIDATED DAMAGES - \$400/DAY	-	פוט	-\$400.00	\$0.00	-\$400.00	\$0.00	-\$400.00	\$0.00	-\$400.00	\$0.00	-\$440.00	\$0.00
QUITTE U. DIS COLUMN TELIS	-			<b>#040 405 00</b>		<b>#</b> 400.005.00		<b>#</b> 570.045.00		<b>#</b> 500 470 00		<b>\$740,000,75</b>
SUBTOTAL BID COMMON ITEMS	-			\$612,495.00		\$499,605.00		\$572,215.00		\$582,470.00		\$712,088.75
	-			<b>***</b>		A 40 000 50		<b>^== </b>		<b>*</b> == 0.4= 0.0		<b>*</b> =4 000 00
15 CONTINGENCY ALLOWANCE (10% OF SUB-TOTAL)	-			\$61,249.50		\$49,960.50		\$57,221.50		\$58,247.00		\$71,208.88
	-			*						*		
TOTAL BID COMMON ITEMS	4			\$673,744.50		\$549,565.50		\$629,436.50		\$640,717.00		\$783,297.63
	4											
SECTION TWO - WATER												
1 FOR FURNISHING AND INSTALLING 3/4-INCH WATER SERVICE, COMPLETE IN PLACE.												
A 3/4-INCH WATER METER ASSEMBLY	350	EA	\$370.00	\$129,500.00	\$410.00	\$143,500.00	\$500.00	\$175,000.00	\$430.00	\$150,500.00	\$490.00	\$171,500.00
B 3/4-INCH COPPER TUBING (TYPE K)	9,000	LF	\$9.00	\$81,000.00	\$10.00	\$90,000.00	\$12.00	\$108,000.00	\$14.50	\$130,500.00	\$14.75	\$132,750.00
2 FOR FURNISHING AND INSTALLING 1-INCH WATER SERVICE, COMPLETE IN PLACE.												
A 1-INCH WATER METER ASSEMBLY	50	EA	\$400.00	\$20,000.00	\$555.00	\$27,750.00	\$600.00	\$30,000.00	\$530.00	\$26,500.00	\$560.00	\$28,000.00
B 1-INCH COPPER TUBING (TYPE K)	1,500	LF	\$10.00	\$15,000.00	\$11.00	\$16,500.00	\$14.00	\$21,000.00	\$16.00	\$24,000.00	\$18.00	\$27,000.00
FOR FURNISHING AND INSTALLING 1 1/2-INCH WATER SERVICE, COMPLETE IN PLACE.												
A 1 1/2-INCH WATER METER ASSEMBLY	25	EA	\$3,700.00	\$92,500.00	\$4,450.00	\$111,250.00	\$4,000.00	\$100,000.00	\$4,450.00	\$111,250.00	\$4,900.00	\$122,500.00
B 1 1/2-INCH COPPER TUBING (TYPE K)	500	LF	\$12.00	\$6,000.00	\$18.50	\$9,250.00	\$16.00	\$8,000.00	\$20.00	\$10,000.00	\$26.00	\$13,000.00
4 FOR FURNISHING AND INSTALLING 2-INCH WATER SERVICE, COMPLETE IN PLACE.												
A 2-INCH WATER METER ASSEMBLY	15	EA	\$4,300.00	\$64,500.00	\$4,675.00	\$70,125.00	\$4,200.00	\$63,000.00	\$4,680.00	\$70,200.00	\$5,225.00	\$78,375.00
B 2-INCH COPPER TUBING (TYPE K)	375	LF	\$15.00	\$5,625.00	\$26.25	\$9,843.75	\$18.00	\$6,750.00	\$38.00	\$14,250.00	\$34.00	\$12,750.00
5 FOR FURNISHING AND INSTALLING 3-INCH WATER SERVICE, COMPLETE IN PLACE.	1		Ţ	<b>4</b> 0,020.00	¥=0.=0	<del>- + + + + + + + + + + + + + + + + + + +</del>	4.0.00	40,100100	400.00	<b>*</b> · · ·,======	40.1100	<b>*</b> :=,: • • · · · · · · · · · · · · · · · · ·
A 3- INCH WATER ASSEMBLY	2	EA	\$7,500.00	\$15,000.00	\$9,825.00	\$19,650.00	\$10,200.00	\$20,400.00	\$11,620.00	\$23,240.00	\$9,800.00	\$19,600.00
B 3-INCH RESTRAINED JOINT DIP	100	LF	\$18.00	\$1,800.00	\$22.50	\$2,250.00	\$23.00	\$2,300.00	\$23.00	\$2,300.00	\$24.00	\$2,400.00
6 FOR FURNISHING AND INSTALLING 4-INCH WATER SERVICE, COMPLETE IN PLACE.	100		ψ10.00	ψ1,000.00	Ψ22.00	Ψ2,200.00	Ψ20.00	Ψ2,000.00	Ψ20.00	Ψ2,000.00	Ψ2 7.00	Ψ2, 100.00
A 4-INCH WATER ASSEMBLY	2	EA	\$9,000.00	\$18,000.00	\$12,300.00	\$24,600.00	\$14,400.00	\$28,800.00	\$14,150.00	\$28,300.00	\$12,500.00	\$25,000.00
B 4-INCH RESTRAINED JOINT DIP	100	LF	\$20.00	\$2,000.00	\$22.75	\$24,600.00	\$25.50	\$2,550.00	\$23.00	\$2,300.00	\$25.85	\$2,585.00
	100	LF	ֆ∠∪.∪∪	\$∠,000.00	<b>Φ</b> ΖΖ./ Ό	\$∠,∠13.00	\$∠5.5∪	φ∠,550.00	ֆ∠ა.∪∪	ֆ∠,3∪∪.∪∪	\$∠5.65	φ∠,363.00
7 FOR FURNISHING AND INSTALLING 4-INCH FIRELINE SERVICE, COMPLETE IN PLACE.	1	Ε.	¢2 200 02	\$0,000,00	\$3.800.00	¢44 400 00	\$4.300.00	£42.000.00	\$5.300.00	\$15.900.00	\$4.600.00	\$13.800.00
A 4-INCH FIRELINE ASSEMBLY	3	EA	\$3,200.00	\$9,600.00	4 - 1	\$11,400.00	+ /	\$12,900.00	4 - 7	+ -,	+ /	+ -,
B 4-INCH RESTRAINED JOINT DIP	100	LF	\$20.00	\$2,000.00	\$22.75	\$2,275.00	\$24.00	\$2,400.00	\$23.00	\$2,300.00	\$25.85	\$2,585.00

				1		2		3		4		5	
FY	FY07 WATER & SANITARY SEWER SERVICE INSTALLATIONS  C		DOT Construction, Inc.		B.R.S., Inc.		Dallas 1 Construction, LLC		State Utility Contractors, Inc.		Dellinger, Inc.		
' ' '				Charlotte, NC		Richfield, NC		Charlotte, NC		Monroe, NC		Monroe, NC	
			I = 4	\$500.00	, , , , , , , , , , , , , , , , , , ,		#coo.oo   #coo.oo		\$550.00 \$550.00		\$530.00 \$530.00		ФСС <u>Т</u> ОО
0	4-INCH RESILENT SEAT GATE FOR FURNISHING AND INSTALLING 6-INCH FIRELINE SERVICE, COMPLETE IN PLACE.	1	EA	\$500.00	\$500.00	\$600.00	\$600.00	\$550.00	\$550.00	\$530.00	\$530.00	\$665.00	\$665.00
8	FOR FURNISHING AND INSTALLING 6-INCH FIRELINE SERVICE, COMPLETE IN PLACE.  6-INCH FIRELINE ASSEMBLY	2	EA	\$3,500.00	\$7,000.00	\$5,000.00	\$10,000.00	\$4,500.00	\$9,000.00	\$5,575.00	\$11,150.00	\$4,900.00	\$9,800.00
В	6-INCH RESTRAINED JOINT DIP	150	LF	\$3,500.00	\$3,150.00	\$23.00	\$3,450.00	\$25.00	\$3,750.00	\$5,575.00	\$3,600.00	\$29.00	\$4,350.00
C	6-INCH RESILENT SEAT GATE	150	EA	\$550.00	\$5,150.00	\$23.00 \$750.00	\$3,450.00 \$750.00	\$25.00	\$3,750.00	\$640.00	\$640.00	\$810.00	\$810.00
0	FOR FURNISHING AND INSTALLING 8-INCH FIRELINE SERVICE, COMPLETE IN PLACE.		EA	\$550.00	\$550.00	\$750.00	\$750.00	\$700.00	\$700.00	\$640.00	\$640.00	\$610.00	\$610.00
9 A	8-INCH FIRELINE ASSEMBLY	1	EA	\$5.000.00	\$5.000.00	\$6,150.00	\$6,150.00	\$5,200.00	\$5,200.00	\$6.500.00	\$6.500.00	\$5.975.00	\$5.975.00
В	8-INCH RESTRAINED JOINT DIP	150	LF	\$26.00	\$3,900.00	\$28.50	\$4,275.00	\$30.00	\$4,500.00	\$29.00	\$4,350.00	\$33.50	\$5,025.00
C	8-INCH RESILENT SEAT GATE	130	EA	\$650.00	\$650.00	\$1.000.00	\$1,000.00	\$800.00	\$800.00	\$895.00	\$895.00	\$1,150.00	\$1,150.00
10	FOR FURNISHING AND INSTALLING TAPPING SLEEVES AND TAPPING VALVES		LA	\$030.00	φ030.00	\$1,000.00	\$1,000.00	\$600.00	\$600.00	φ093.00	φ093.00	\$1,130.00	\$1,130.00
	FOR TAPS MADE ON DIP AND PVC WATER MAINS	1											
	36"X8"	1	EA	\$2,800.00	\$2,800.00	\$3,175.00	\$3,175.00	\$3,100.00	\$3,100.00	\$3,930.00	\$3,930.00	\$4,200.00	\$4,200.00
	36"X6"	1	EA	\$2,400.00	\$2,400.00	\$2,675.00	\$2,675.00	\$2,700.00	\$2,700.00	\$3,350.00	\$3,350.00	\$3,675.00	\$3,675.00
	36"X4"	1	EA	\$2,400.00	\$2,300.00	\$2,475.00	\$2,475.00	\$2,700.00	\$2,700.00	\$3,140.00	\$3,140.00	\$3,550.00	\$3,550.00
	36"X3"	1	EA	\$2,300.00	\$2,100.00	\$2,450.00	\$2,450.00	\$2,300.00	\$2,300.00	\$3,140.00	\$3,220.00	\$3,550.00	\$3,550.00
	36"X2"	1	EA		\$1,300.00	\$1,350.00	\$1,350.00	\$1,200.00	\$1,200.00	\$1,600.00	\$1,600.00	\$2,325.00	\$2,325.00
		1	EA	\$1,300.00 \$1,200.00	\$1,200.00	. ,			\$1,200.00			\$2,325.00	\$2,300.00
	36"X1 1/2"	1		. ,		\$1,315.00	\$1,315.00	\$1,200.00		\$1,550.00	\$1,550.00		. ,
	36"X1"	1	EA	\$1,100.00	\$1,100.00	\$1,290.00	\$1,290.00	\$1,200.00	\$1,200.00	\$1,500.00	\$1,500.00	\$2,275.00	\$2,275.00
r	36"X3/4"	1	EA	\$1,000.00	\$1,000.00	\$1,275.00	\$1,275.00	\$1,200.00	\$1,200.00	\$1,475.00	\$1,475.00	\$2,050.00	\$2,050.00
	24"X8"	1	EA	\$2,500.00	\$2,500.00	\$2,660.00	\$2,660.00	\$2,700.00	\$2,700.00	\$3,640.00	\$3,640.00	\$3,850.00	\$3,850.00
	24"X6"	1	EA	\$2,100.00	\$2,100.00	\$2,225.00	\$2,225.00	\$2,200.00	\$2,200.00	\$3,150.00	\$3,150.00	\$3,450.00	\$3,450.00
F	24"X4"	1	EA	\$1,700.00	\$1,700.00	\$1,850.00	\$1,850.00	\$1,800.00	\$1,800.00	\$3,000.00	\$3,000.00	\$3,100.00	\$3,100.00
	24"X3"	1	EA	\$1,600.00	\$1,600.00	\$1,810.00	\$1,810.00	\$1,800.00	\$1,800.00	\$3,075.00	\$3,075.00	\$3,100.00	\$3,100.00
	24"X2"	1	EA	\$900.00	\$900.00	\$800.00	\$800.00	\$1,000.00	\$1,000.00	\$1,240.00	\$1,240.00	\$2,050.00	\$2,050.00
	24"X1 1/2"	1	EA	\$800.00	\$800.00	\$750.00	\$750.00	\$1,000.00	\$1,000.00	\$1,200.00	\$1,200.00	\$2,000.00	\$2,000.00
	24"X1"	3	EA	\$700.00	\$2,100.00	\$580.00	\$1,740.00	\$750.00	\$2,250.00	\$1,200.00	\$3,600.00	\$1,500.00	\$4,500.00
	24"X3/4"	6	EA	\$850.00	\$5,100.00	\$570.00	\$3,420.00	\$725.00	\$4,350.00	\$1,075.00	\$6,450.00	\$1,050.00	\$6,300.00
	20"X8"	1	EA	\$2,000.00	\$2,000.00	\$2,315.00	\$2,315.00	\$2,900.00	\$2,900.00	\$3,500.00	\$3,500.00	\$3,500.00	\$3,500.00
	20"X6"	1	EA	\$1,700.00	\$1,700.00	\$1,900.00	\$1,900.00	\$2,400.00	\$2,400.00	\$3,075.00	\$3,075.00	\$3,050.00	\$3,050.00
	20"X4"	1	EA	\$1,300.00	\$1,300.00	\$1,440.00	\$1,440.00	\$1,600.00	\$1,600.00	\$2,825.00	\$2,825.00	\$2,750.00	\$2,750.00
	20"X3"	1	EA	\$1,100.00	\$1,100.00	\$1,500.00	\$1,500.00	\$1,600.00	\$1,600.00	\$2,900.00	\$2,900.00	\$2,800.00	\$2,800.00
U	20"X2"	1	EA	\$700.00	\$700.00	\$775.00	\$775.00	\$800.00	\$800.00	\$1,220.00	\$1,220.00	\$1,800.00	\$1,800.00
\	20"X1 1/2"	1	EA	\$600.00	\$600.00	\$730.00	\$730.00	\$750.00	\$750.00	\$1,170.00	\$1,170.00	\$1,650.00	\$1,650.00
V	20"X1"	1	EA	\$500.00	\$500.00	\$570.00	\$570.00	\$650.00	\$650.00	\$1,080.00	\$1,080.00	\$1,300.00	\$1,300.00
)	20"X3/4"	1	EA	\$500.00	\$500.00	\$560.00	\$560.00	\$650.00	\$650.00	\$1,065.00	\$1,065.00	\$995.00	\$995.00
\	16"X8	1	EA	\$1,900.00	\$1,900.00	\$2,325.00	\$2,325.00	\$2,800.00	\$2,800.00	\$2,600.00	\$2,600.00	\$3,150.00	\$3,150.00
	16"X6"	1	EA	\$1,600.00	\$1,600.00	\$1,925.00	\$1,925.00	\$2,500.00	\$2,500.00	\$2,170.00	\$2,170.00	\$2,800.00	\$2,800.00
	16"X4"	1	EA	\$1,400.00	\$1,400.00	\$1,620.00	\$1,620.00	\$2,200.00	\$2,200.00	\$1,945.00	\$1,945.00	\$2,650.00	\$2,650.00
	16"X3"	1	EA	\$1,300.00	\$1,300.00	\$1,675.00	\$1,675.00	\$2,200.00	\$2,200.00	\$2,080.00	\$2,080.00	\$2,550.00	\$2,550.00
	16"X2"	1	EA	\$400.00	\$400.00	\$500.00	\$500.00	\$750.00	\$750.00	\$760.00	\$760.00	\$1,250.00	\$1,250.00
	16"X1 1/2"	6	EA	\$900.00	\$5,400.00	\$450.00	\$2,700.00	\$700.00	\$4,200.00	\$705.00	\$4,230.00	\$1,250.00	\$7,500.00
	16"X1"	10	EA	\$900.00	\$9,000.00	\$375.00	\$3,750.00	\$600.00	\$6,000.00	\$600.00	\$6,000.00	\$2,000.00	\$20,000.00
	16"X3/4"	20	EA	\$700.00	\$14,000.00	\$370.00	\$7,400.00	\$550.00	\$11,000.00	\$590.00	\$11,800.00	\$825.00	\$16,500.00
	12"X8"	1	EA	\$1,700.00	\$1,700.00	\$2,080.00	\$2,080.00	\$2,300.00	\$2,300.00	\$2,225.00	\$2,225.00	\$3,000.00	\$3,000.00
	12"X6"	1	EA	\$1,400.00	\$1,400.00	\$1,950.00	\$1,950.00	\$2,100.00	\$2,100.00	\$2,400.00	\$2,400.00	\$2,750.00	\$2,750.00
	12"X4"	1	EA	\$1,200.00	\$1,200.00	\$1,365.00	\$1,365.00	\$1,700.00	\$1,700.00	\$1,590.00	\$1,590.00	\$2,450.00	\$2,450.00
	12"X3"	1	EA	\$1,100.00	\$1,100.00	\$1,450.00	\$1,450.00	\$1,700.00	\$1,700.00	\$1,675.00	\$1,675.00	\$2,400.00	\$2,400.00
	12"X2"	5	EA	\$500.00	\$2,500.00	\$390.00	\$1,950.00	\$650.00	\$3,250.00	\$550.00	\$2,750.00	\$1,100.00	\$5,500.00
	12"X1 1/2"	1	EA	\$500.00	\$500.00	\$340.00	\$340.00	\$450.00	\$450.00	\$500.00	\$500.00	\$1,050.00	\$1,050.00
	12 X1 1/2 12"X1"	15	EA	\$450.00	\$6,750.00	\$290.00	\$4,350.00	\$375.00	\$5,625.00	\$410.00	\$6,150.00	\$1,000.00	\$15.000.00
	12"X3/4"	50	EA	\$400.00	\$20,000.00	\$280.00	\$14,000.00	\$300.00	\$15,000.00	\$400.00	\$20,000.00	\$630.00	\$31,500.00
	12 X3/4 10"X8"	1	EA	\$1,600.00	\$1,600.00	\$1,925.00	\$14,000.00	\$2,000.00	\$2,000.00	\$2,075.00	\$20,000.00	\$2,950.00	\$2,950.00
00	10 AO	1	EA	\$1,800.00	\$1,800.00	\$1,925.00	\$1,925.00	\$2,000.00	\$2,000.00	\$2,075.00	\$2,075.00	\$2,500.00	\$2,500.00
II pr	10"X6"	1 1	EA	Φ1,3UU.UU	φ1,3UU.UU	ψ1,550.00	υυ.υcc,ι φ	Φ1,700.00	φ1,/UU.UU	Φ1,020,1Φ	00.00σ,τφ	ֆ∠,ⴢ∪∪.∪∪	ֆ∠,ე∪∪.∪∪

i					1		2		3		4		5
FY07 WATER & SANITARY SEWER SERVICE INSTALLATIONS			DOT Con	DOT Construction, Inc.		B.R.S., Inc.		Dallas 1 Construction, LLC		State Utility Contractors, Inc.		iger, Inc.	
				Charlotte, NC		Richfield, NC			otte, NC	Monroe, NC		Monroe, NC	
													•
	10"X4"	1	EA	\$1,100.00	\$1,100.00	\$1,360.00	\$1,360.00	\$1,300.00	\$1,300.00	\$1,440.00	\$1,440.00	\$2,350.00	\$2,350.00
	10"X3"	1	EA	\$1,000.00	\$1,000.00	\$1,410.00	\$1,410.00	\$1,300.00	\$1,300.00	\$1,525.00	\$1,525.00	\$2,150.00	\$2,150.00
	10"X2"	1	EA	\$600.00	\$600.00	\$375.00	\$375.00	\$650.00	\$650.00	\$470.00	\$470.00	\$1,050.00	\$1,050.00
	10"X1 1/2"	1	EA	\$500.00	\$500.00	\$335.00	\$335.00	\$650.00	\$650.00	\$420.00	\$420.00	\$1,050.00	\$1,050.00
	10"X1"	1	EA	\$450.00	\$450.00	\$280.00	\$280.00	\$375.00	\$375.00	\$325.00	\$325.00	\$950.00	\$950.00
	10"X3/4"	1	EA	\$300.00	\$300.00	\$265.00	\$265.00	\$350.00	\$350.00	\$320.00	\$320.00	\$585.00	\$585.00
ww 8		1	EA	\$1,500.00	\$1,500.00	\$1,800.00	\$1,800.00	\$1,800.00	\$1,800.00	\$2,050.00	\$2,050.00	\$2,880.00	\$2,880.00
XX 8		1	EA	\$1,200.00	\$1,200.00	\$1,510.00	\$1,510.00	\$1,500.00	\$1,500.00	\$1,725.00	\$1,725.00	\$2,500.00	\$2,500.00
yy 8		1	EA	\$1,000.00	\$1,000.00	\$1,250.00	\$1,250.00	\$1,200.00	\$1,200.00	\$1,290.00	\$1,290.00	\$2,200.00	\$2,200.00
	3"X3"	1	EA	\$800.00	\$800.00	\$1,300.00	\$1,300.00	\$1,300.00	\$1,300.00	\$1,370.00	\$1,370.00	\$2,000.00	\$2,000.00
aaa 8		5	EA	\$400.00	\$2,000.00	\$295.00	\$1,475.00	\$600.00	\$3,000.00	\$355.00	\$1,775.00	\$1,000.00	\$5,000.00
bbb 8	3"X1 1/2"	1	EA	\$400.00	\$400.00	\$295.00	\$295.00	\$550.00	\$550.00	\$355.00	\$355.00	\$900.00	\$900.00
ccc 8	3"X1"	8	EA	\$400.00	\$3,200.00	\$230.00	\$1,840.00	\$350.00	\$2,800.00	\$230.00	\$1,840.00	\$550.00	\$4,400.00
ddd 8	3"X3/4"	100	EA	\$400.00	\$40,000.00	\$225.00	\$22,500.00	\$250.00	\$25,000.00	\$220.00	\$22,000.00	\$450.00	\$45,000.00
eee 6	5"X6"	1	EA	\$1,300.00	\$1,300.00	\$1,575.00	\$1,575.00	\$1,600.00	\$1,600.00	\$1,790.00	\$1,790.00	\$1,900.00	\$1,900.00
fff	5"X4"	1	EA	\$1,100.00	\$1,100.00	\$1,230.00	\$1,230.00	\$1,400.00	\$1,400.00	\$1,275.00	\$1,275.00	\$1,650.00	\$1,650.00
ggg 6	5"X3"	1	EA	\$900.00	\$900.00	\$1,280.00	\$1,280.00	\$1,500.00	\$1,500.00	\$1,350.00	\$1,350.00	\$1,600.00	\$1,600.00
hhh 6		4	EA	\$400.00	\$1,600.00	\$335.00	\$1,340.00	\$500.00	\$2,000.00	\$375.00	\$1,500.00	\$600.00	\$2,400.00
	5"X 1 1/2"	3	EA	\$350.00	\$1,050.00	\$290.00	\$870.00	\$400.00	\$1,200.00	\$325.00	\$975.00	\$550.00	\$1,650.00
	5"X1"	8	EA	\$350.00	\$2,800.00	\$230.00	\$1,840.00	\$250.00	\$2,000.00	\$225.00	\$1,800.00	\$450.00	\$3,600.00
	5"X3/4"	100	EA	\$250.00	\$25,000.00	\$220.00	\$22,000.00	\$225.00	\$22,500.00	\$215.00	\$21,500.00	\$350.00	\$35,000.00
	#X2"	1	EA	\$300.00	\$300.00	\$325.00	\$325.00	\$350.00	\$350.00	\$336.00	\$336.00	\$500.00	\$500.00
	#X 1 1/2"	1	EA	\$250.00	\$250.00	\$285.00	\$285.00	\$350.00	\$350.00	\$290.00	\$290.00	\$400.00	\$400.00
nnn 4		1	EA	\$230.00	\$230.00	\$235.00	\$235.00	\$225.00	\$225.00	\$235.00	\$235.00	\$375.00	\$375.00
	#X3/4"	1	EA	\$200.00	\$200.00	\$225.00	\$225.00	\$225.00	\$225.00	\$195.00	\$195.00	\$350.00	\$350.00
ppp 3		1	EA	\$200.00	\$200.00	\$300.00	\$300.00	\$300.00	\$300.00	\$300.00	\$300.00	\$450.00	\$450.00
	3°X 1 1/2"	1	EA	\$200.00	\$200.00	\$250.00	\$250.00	\$300.00	\$300.00	\$250.00	\$250.00	\$400.00	\$400.00
rrr 3		1	EA	\$200.00	\$200.00	\$205.00	\$205.00	\$300.00	\$300.00	\$200.00	\$200.00	\$400.00	\$400.00
		1	EA						\$250.00	\$190.00	\$190.00	\$375.00	\$375.00
	3"X3/4"	1		\$200.00	\$200.00	\$195.00	\$195.00	\$250.00					
	2"X1"	1 50	EA	\$200.00	\$200.00	\$205.00	\$205.00	\$200.00	\$200.00	\$175.00	\$175.00	\$325.00	\$325.00
	2"X3/4"	50	EA	\$200.00	\$10,000.00	\$195.00	\$9,750.00	\$200.00	\$10,000.00	\$160.00	\$8,000.00	\$300.00	\$15,000.00
	ADDITIONAL COST FOR COMPLETING A TAP ON PRESTRESSED CONCRETE CYLINDER PIPE												j
	PAYMENT WILL BE MADE IN ADDITION TO ITEMS 10 A)												
	36"X8"	1	EA	\$2,000.00	\$2,000.00	\$2,165.00	\$2,165.00	\$5,000.00	\$5,000.00	\$4,900.00	\$4,900.00	\$3,350.00	\$3,350.00
	36"X6"	1	EA	\$1,800.00	\$1,800.00	\$1,945.00	\$1,945.00	\$4,000.00	\$4,000.00	\$4,885.00	\$4,885.00	\$3,350.00	\$3,350.00
	36"X4"	1	EA	\$1,600.00	\$1,600.00	\$1,685.00	\$1,685.00	\$3,500.00	\$3,500.00	\$4,250.00	\$4,250.00	\$3,000.00	\$3,000.00
	36"X3"	1	EA	\$1,500.00	\$1,500.00	\$1,750.00	\$1,750.00	\$3,500.00	\$3,500.00	\$4,295.00	\$4,295.00	\$2,850.00	\$2,850.00
	36"X2"	1	EA	\$1,000.00	\$1,000.00	\$420.00	\$420.00	\$1,500.00	\$1,500.00	\$210.00	\$210.00	\$1,350.00	\$1,350.00
	36"X1 1/2"	1	EA	\$1,000.00	\$1,000.00	\$395.00	\$395.00	\$1,400.00	\$1,400.00	\$210.00	\$210.00	\$1,300.00	\$1,300.00
	36"X1"	1	EA	\$1,000.00	\$1,000.00	\$390.00	\$390.00	\$1,300.00	\$1,300.00	\$195.00	\$195.00	\$1,275.00	\$1,275.00
	36"X3/4"	1	EA	\$1,000.00	\$1,000.00	\$385.00	\$385.00	\$1,300.00	\$1,300.00	\$195.00	\$195.00	\$1,250.00	\$1,250.00
i/2	24"X8"	1	EA	\$1,800.00	\$1,800.00	\$2,115.00	\$2,115.00	\$4,500.00	\$4,500.00	\$4,850.00	\$4,850.00	\$3,500.00	\$3,500.00
j :	24"X6"	1	EA	\$1,600.00	\$1,600.00	\$2,100.00	\$2,100.00	\$4,000.00	\$4,000.00	\$5,065.00	\$5,065.00	\$3,150.00	\$3,150.00
k :	24"X4"	1	EA	\$1,400.00	\$1,400.00	\$1,800.00	\$1,800.00	\$3,200.00	\$3,200.00	\$4,380.00	\$4,380.00	\$2,700.00	\$2,700.00
	24"X3"	1	EA	\$1,300.00	\$1,300.00	\$1,850.00	\$1,850.00	\$3,200.00	\$3,200.00	\$4,440.00	\$4,440.00	\$2,700.00	\$2,700.00
	24"X2"	1	EA	\$800.00	\$800.00	\$350.00	\$350.00	\$1,100.00	\$1,100.00	\$490.00	\$490.00	\$1,150.00	\$1,150.00
	24"X1 1/2"	1	EA	\$800.00	\$800.00	\$350.00	\$350.00	\$1,100.00	\$1,100.00	\$490.00	\$490.00	\$1,150.00	\$1,150.00
n 2		1	EA	\$800.00	\$800.00	\$375.00	\$375.00	\$1,000.00	\$1,000.00	\$520.00	\$520.00	\$1,100.00	\$1,100.00
		1											
0 2	24"X1"	1			\$800.00	\$375.00	\$375 00	\$1,000 00	\$1,000.00	\$520 00	\$520 00	\$1,100.00	\$1,100,00
o 2 p 2	24"X1" 24"X3/4"	1 1	EA	\$800.00	\$800.00 \$1,600.00	\$375.00 \$2,100.00	\$375.00 \$2,100.00	\$1,000.00 \$4,000.00	\$1,000.00 \$4,000.00	\$520.00 \$4.825.00	\$520.00 \$4.825.00	\$1,100.00 \$3,150.00	\$1,100.00 \$3,150.00
0 2 p 2 q 1	24"X1" 24"X3/4" 16"X8	1 1 1	EA EA	\$800.00 \$1,600.00	\$1,600.00	\$2,100.00	\$2,100.00	\$4,000.00	\$4,000.00	\$4,825.00	\$4,825.00	\$3,150.00	\$3,150.00
0 2 p 2 q 1 r 1	24"X1" 24"X3/4"	1 1 1 1	EA	\$800.00									

				1		2		3		4		5	
FY07	FY07 WATER & SANITARY SEWER SERVICE INSTALLATIONS		DOT Construction, Charlotte, NC		,	B.R.S., Inc. Richfield, NC		Dallas 1 Construction, LLC Charlotte, NC		State Utility Contractors, Inc. Monroe, NC		II	nger, Inc. nroe, NC
u	16"X2"	1	EA	\$700.00	\$700.00	\$355.00	\$355.00	\$800.00	\$800.00	\$500.00	\$500.00	\$1,000.00	\$1,000.00
V	16"X1 1/2"	1	EA	\$700.00	\$700.00	\$365.00	\$365.00	\$800.00	\$800.00	\$510.00	\$510.00	\$1,000.00	\$1,000.00
w	16"X1"	1	EA	\$700.00	\$700.00	\$395.00	\$395.00	\$750.00	\$750.00	\$545.00	\$545.00	\$950.00	\$950.00
х	16"X3/4"	1	EA	\$700.00	\$700.00	\$390.00	\$390.00	\$750.00	\$750.00	\$540.00	\$540.00	\$950.00	\$950.00
11	FURNISH/INSTALL ADDITIONAL FITTINGS	125	LBS	\$6.00	\$750.00	\$5.25	\$656.25	\$6.00	\$750.00	\$7.00	\$875.00	\$8.00	\$1,000.00
	FURNISH/FORM/PLACE PLAIN CONCRETE BLOCKING	10	CF	\$15.00	\$150.00	\$6.00	\$60.00	\$15.00	\$150.00	\$170.00	\$1,700.00	\$21.50	\$215.00
	FOR FURNISHING AND INSTALLING (DRY-BORE) WITH STEEL ENCASEMENT						*	*	*	*	· /	*	*
	FOR MOBILIZATION, EXCAVATION & BACKFILL OF THE BORE PIT		1 1	i									
	0'-5' DEPTH	5	EA	\$600.00	\$3,000.00	\$750.00	\$3,750.00	\$1,000.00	\$5,000.00	\$840.00	\$4,200.00	\$908.00	\$4,540.00
	EACH ADDITIONAL FOOT OF DEPTH	10	VF	\$60.00	\$600.00	\$75.00	\$750.00	\$100.00	\$1,000.00	\$110.00	\$1,100.00	\$134.00	\$1,340.00
	B" DIAMETER CASING (t=.250) in addition to item 13A	25	LF	\$75.00	\$1,875.00	\$80.00	\$2,000.00	\$100.00	\$2,500.00	\$105.00	\$2,625.00	\$120.00	\$3,000.00
	12-3/4" DIAMETER CASING (t=.250) in addition to item 13A and B	100	LF	\$80.00	\$8,000.00	\$100.00	\$10,000.00	\$110.00	\$11,000.00	\$105.00	\$10,500.00	\$117.00	\$11,700.00
_	18" DIAMETER CASING (t=.250) in addition to item 13A and B	25	LF	\$85.00	\$2,125.00	\$105.00	\$2,625.00	\$150.00	\$3,750.00	\$165.00	\$4,125.00	\$142.00	\$3,550.00
	FOR GROUTING INCOMPLETE ENCASING PIPE		+=-+	Ψ00.00	Ψ2,120.00	Ψ100.00	Ψ2,020.00	Ψ100.00	ψ0,700.00	Ψ100.00	Ψ+,120.00	Ψ142.00	ψ0,000.00
	3" DIAMETER CASING	5	LF	\$17.00	\$85.00	\$22.00	\$110.00	\$20.00	\$100.00	\$11.00	\$55.00	\$32.00	\$160.00
	12-3/4" DIAMETER CASING	20	LF	\$20.00	\$400.00	\$24.00	\$480.00	\$25.00	\$500.00	\$11.00	\$220.00	\$40.00	\$800.00
	18" DIAMETER CASING	5	LF	\$23.00	\$115.00	\$27.00	\$135.00	\$30.00	\$150.00	\$17.00	\$85.00	\$50.00	\$250.00
15 .	8 DIAMETER CASING	3	LF	\$23.00	\$115.00	\$27.00	\$133.00	\$30.00	\$150.00	\$17.00	\$65.00	\$50.00	\$250.00
	FOR PUNCHING AND DRILLING, WITHOUT ENCASEMENT PIPE, OPENINGS FOR THE INSERTION OF 2 INCH AND SMALLER WATER SERVICE LINE PIPE, AS SPECIFIED, COMPLETE IN PLACE.	5,000	LF	\$15.00	\$75,000.00	\$17.00	\$85,000.00	\$20.00	\$100,000.00	\$11.50	\$57,500.00	\$21.00	\$105,000.00
	FOR PUNCHING AND DRILLING, WITHOUT ENCASEMENT PIPE, OPENINGS FOR THE INSERTION OF 3 INCH AND 4 INCH WATER SERVICE LINE PIPE, AS SPECIFIED, COMPLETE IN PLACE.	200	LF	\$15.00	\$3,000.00	\$17.00	\$3,400.00	\$25.00	\$5,000.00	\$17.50	\$3,500.00	\$30.50	\$6,100.00
	DEMOBILIZATION FOR FAILURE TO COMPLETE PUNCH FOR 3-INCH OR 4-INCH WATER SERVICE.	2	LF	\$350.00	\$700.00	\$50.00	\$100.00	\$200.00	\$400.00	\$55.00	\$110.00	\$920.00	\$1,840.00
(	FOR CONNECTIONS TO EXISTING PRIVATE SERVICE PIPE (INSTALLED BY PLUMBER), AS SPECIFIED.			<b>**</b>	4075.00	<b>A</b> 05.00	0.475.00	0400	<b>\$</b> =00.00	<b>0</b> 440.00	<b>A</b> =00.00	<b>*</b>	0505.00
	I-INCH	5	LF	\$75.00	\$375.00	\$95.00	\$475.00	\$100.00	\$500.00	\$140.00	\$700.00	\$107.00	\$535.00
	3/4-INCH	15	LF	\$60.00	\$900.00	\$90.00	\$1,350.00	\$75.00	\$1,125.00	\$140.00	\$2,100.00	\$87.00	\$1,305.00
	FOR LOCATING AND UNCOVERING VALVES BOXES, AS SPECIFIED, COMPLETE IN PLACE.	5	EA	\$50.00	\$250.00	\$25.00	\$125.00	\$100.00	\$500.00	\$85.00	\$425.00	\$179.00	\$895.00
I	FOR THE ADDITIONAL COST OF RESTRICTED WORK HOURS OF 9:00 AM TO 4:00 PM, PER LOCATION, AS SPECIFIED	6	DYS	\$700.00	\$4,200.00	\$1,500.00	\$9,000.00	\$1,100.00	\$6,600.00	\$840.00	\$5,040.00	\$1,100.00	\$6,600.00
	FOR THE ADDITIONAL COST OF RESTRICTED WORK HOURS OF 6:00PM TO 6:00 AM, AT NIGHT AND/OR WEEKENDS OF 6:00 PM FRIDAY TO 6:00 AM MONDAY, PER LOCATION, AS SPECIFIED	2	DYS	\$1,000.00	\$2,000.00	\$1,800.00	\$3,600.00	\$1,500.00	\$3,000.00	\$1,650.00	\$3,300.00	\$2,500.00	\$5,000.00
	FOTAL BID WATER ITEMS		+		\$827,230.00		\$889,910.00		\$1,002,225.00		\$1,009,376.00	1	\$1,217,785.00
$\longrightarrow$	I O IUF PIP MUTEL/ II FINO		+		φυΖι,ΖΟυ.υυ		φουσ,σ10.00		φ1,002,223.00	1	φ1,009,376.00	1	φ1,∠11,100.00
	SECTION THREE - SANITARY SEWER												
	FOR SEWER SERVICE LATERAL CONNECTIONS TO THE MAIN, AS SPECIFIED, COMPLETE IN PLACE.												
	NTO MANHOLES (REGARDLESS OF SIZE)								1				
	AT THE INVERT	30	EA	\$600.00	\$18,000.00	\$750.00	\$22,500.00	\$900.00	\$27,000.00	\$650.00	\$19,500.00	\$755.00	\$22,650.00
	ELEVATED, INCLUDING BASIC 0'-3' DEPTH INSIDE DROP INCLUDING BEND AND TEE (4" OR 6" DIAMETER ONLY)	20	EA	\$600.00	\$12,000.00	\$825.00	\$16,500.00	\$800.00	\$16,000.00	\$335.00	\$6,700.00	\$690.00	\$13,800.00
	FOR EXTRA DEPTH OF 4" OR 6" INSIDE DROP	30	VF	\$10.00	\$300.00	\$15.00	\$450.00	\$20.00	\$600.00	\$30.00	\$900.00	\$27.50	\$825.00
	FOR SEWER CLEAN OUTS COMPLETE (4-INCH & 6-INCH)	325	EA	\$50.00	\$16,250.00	\$125.00	\$40,625.00	\$150.00	\$48,750.00	\$155.00	\$50,375.00	\$181.00	\$58,825.00
В		300	EA	\$300.00	\$90,000.00	\$500.00	\$150,000.00	\$450.00	\$135,000.00	\$630.00	\$189,000.00	\$435.00	\$130,500.00
	OR TAPPING EXISTING MAINS			, , , , , , , , , ,	, ,	7	,	+	11,	+	1	+	1,
C I	FOR TAPPING EXISTING MAINS FOR SEWER SERVICE LATERALS, AS SPECIFIED, COMPLETE IN PLACE.		l li	' l.	' I						1		ll .
C I	FOR SEWER SERVICE LATERALS, AS SPECIFIED, COMPLETE IN PLACE.		+		<u> </u>								
C I 2 I		6,000	I F	\$12.00	\$72,000.00	\$13.50	\$81,000.00	\$16.00	\$96,000.00	\$13.00	\$78,000.00	\$20.00	\$120,000.00

			1			2		3	4 State Utility Contractors, Inc.		5 Dellinger, Inc.	
FY07 WATER & SANITARY SEWER SERVICE INSTALLATIONS			DOT Construction, Inc.		B.R.S., Inc.		Dallas 1 Construction, LLC					
1 107 WATER & GARANTA SERVICE INCIDENTIONS				otte, NC		field, NC		otte, NC		roe, NC		roe, NC
	0			,		<u>'</u>		,		<u> </u>		,
c 10'-14' DEPTH	100	LF	\$25.00	\$2,500.00	\$68.50	\$6,850.00	\$32.00	\$3,200.00	\$37.00	\$3,700.00	\$47.00	\$4,700.00
d 14'-18' DEPTH	40	LF	\$45.00	\$1,800.00	\$73.50	\$2,940.00	\$65.00	\$2,600.00	\$53.00	\$2,120.00	\$80.00	\$3,200.00
e 18' AND DEEPER	10	LF	\$90.00	\$900.00	\$98.50	\$985.00	\$110.00	\$1,100.00	\$100.00	\$1,000.00	\$140.00	\$1,400.00
B FOR SUBSTITUTING 6-INCH (SCHEDULE 40 PVC OR SOIL)	100	LF	\$3.00	\$300.00	\$2.00	\$200.00	\$5.00	\$500.00	\$5.00	\$500.00	\$5.50	\$550.00
C FOR SUBSTITUTING 4-INCH (PRESSURE CLASS 350 DIP)	2,000	LF	\$6.00	\$12,000.00	\$7.50	\$15,000.00	\$8.00	\$16,000.00	\$9.00	\$18,000.00	\$11.00	\$22,000.00
FOR DRY-BORING 18-INCH STEEL CASING PIPE AND INSTALLING DUCTILE IRON PIPE WITH												
NECESSARY MORTAR END SEALING AS SPECIFIED, COMPLETE IN PLACE.		<u> </u>										ļ
A MOBILIZATION, EXCAVATION, SHORING & BACKFILL OF THE BORE PIT	- 10	L	<b>*</b> =***	<b>AT 000 00</b>	<b>*</b> 4 *** ***	<b>*</b> 40.000.00	<b>*</b> 4 *** ***	<b>*</b> 40.000.00	****	<b>***</b>		011.000.00
a 0'-5' DEPTH	10	EA	\$700.00	\$7,000.00	\$1,000.00	\$10,000.00	\$1,000.00	\$10,000.00	\$860.00	\$8,600.00	\$1,100.00	\$11,000.00
b EACH ADDITIONAL FOOT OF DEPTH	5	VF	\$70.00	\$350.00	\$100.00	\$500.00	\$150.00	\$750.00	\$110.00	\$550.00	\$150.00	\$750.00
B 8-INCH DIAMETER CASING (t=.250")		-	<b>#0</b> 000 00	<b>#</b> 40.000.00	#0.000.00	<b>#45.000.00</b>	<b>#0.500.00</b>	047.500.00	<b>#</b> 4.000.00	<b>#04 500 00</b>	ØF 400 00	007.000.00
a FOR THE FIRST 40 LF (PER BORE SITE)	5	EA	\$2,000.00	\$10,000.00	\$3,000.00	\$15,000.00	\$3,500.00	\$17,500.00	\$4,300.00	\$21,500.00	\$5,400.00	\$27,000.00
b FOR ADDITIONAL LENGTH (EXCLUDING FIRST 40 LF PER BORE SITE)	25	LF	\$70.00	\$1,750.00	\$95.00	\$2,375.00	\$110.00	\$2,750.00	\$105.00	\$2,625.00	\$140.00	\$3,500.00
C 12-INCH DIAMETER CASING (t=.250")		-	<b>#4 700 00</b>	<b>#0.500.00</b>	#0.000.00	<b>#</b> 40,000,00	<b>#5.500.00</b>	<b>007.500.00</b>	<b>#</b> 4.000.00	<b>#04 500 00</b>	00.450.00	000 750 00
a FOR THE FIRST 40 LF (PER BORE SITE)	5	EA	\$1,700.00	\$8,500.00	\$3,600.00	\$18,000.00	\$5,500.00	\$27,500.00	\$4,300.00	\$21,500.00	\$6,150.00	\$30,750.00
b FOR ADDITIONAL LENGTH (EXCLUDING FIRST 40 LF PER BORE SITE)	25	LF	\$70.00	\$1,750.00	\$110.00	\$2,750.00	\$150.00	\$3,750.00	\$105.00	\$2,625.00	\$155.00	\$3,875.00
D 18-INCH DIAMETER CASING (t=.250")		-	<b>0</b> 4 <b>7</b> 00 00	00.500.00	<b>*** *** ***</b>	<b>*</b> 40 <b>=</b> 00 00	<b>#=</b> 000 00	005.000.00		<b>***</b>	***	
a FOR THE FIRST 40 LF (PER BORE SITE)	5	EA	\$1,700.00	\$8,500.00	\$3,700.00	\$18,500.00	\$5,000.00	\$25,000.00	\$6,900.00	\$34,500.00	\$6,600.00	\$33,000.00
b FOR ADDITIONAL LENGTH (EXCLUDING FIRST 40 LF PER BORE SITE)	25	LF	\$70.00	\$1,750.00	\$115.00	\$2,875.00	\$120.00	\$3,000.00	\$170.00	\$4,250.00	\$175.00	\$4,375.00
E ANTI-FLOTATION SPIDERS	5	EA	\$60.00	\$300.00	\$75.00	\$375.00	\$100.00	\$500.00	\$115.00	\$575.00	\$135.00	\$675.00
4 FOR DRY BORE WITHOUT ENCASEMENT METHOD 4-INCH PRESSURE CLASS 250 DIP LATERAL	450		***	******	<b>0</b> = 00	<b>4==</b> 0.00	<b>***</b>	<b>A</b> = 0=0 00	040.00	<b>A</b> = 000 00	040.00	<b>0</b> = 000 00
PIPE	150	LF	\$20.00	\$3,000.00	\$5.00	\$750.00	\$35.00	\$5,250.00	\$48.00	\$7,200.00	\$48.00	\$7,200.00
FOR PUNCHING AND DRILLING, WITHOUT ENCASEMENT PIPE, OPENINGS FOR THE INSERTION												
OF 4-INCH SCHEDULE 80 PVC SEWER SERVICE LINE PIPE, AS SPECIFIED, COMPLETE IN PLACE.			00=00	<b>A=</b> 0.000.00	00100		<b>***</b>	<b>A</b> =0.000.00		<b>A=</b> 0.000.00		<b>4</b> -0 000 00
	2,000	LF	\$35.00	\$70,000.00	\$34.00	\$68,000.00	\$35.00	\$70,000.00	\$36.00	\$72,000.00	\$39.00	\$78,000.00
6 DEMOBILIZATION FOR FAILURE TO COMPLETE PUNCH FOR 4-INCH SEWER SERVICE.	2	EA	\$150.00	\$300.00	\$50.00	\$100.00	\$200.00	\$400.00	\$115.00	\$230.00	\$860.00	\$1,720.00
7 BASIC O'-6' DEPTH, 4 FOOT DIAMETER MANHOLES		-	<b>#</b> 4 000 00	<b>#</b> F 000 00	<b>#4.050.00</b>	ΦE 000 00	<b>#4.500.00</b>	<b>#0</b> 000 00	<b>#4.500.00</b>	<b>#0.000.00</b>	<b>#4.000.00</b>	<b>#7</b> 000 00
A WITH GROUTED ON FRAME & COVER	4	EA	\$1,300.00	\$5,200.00	\$1,250.00	\$5,000.00	\$1,500.00	\$6,000.00	\$1,500.00	\$6,000.00	\$1,800.00	\$7,200.00
B IN ADDITION TO ITEM A (ABOVE) THE ADDITIONAL COST TO BOLT THE FRAME TO THE		EA	045.00	<b>#</b> 00.00	<b>#05.00</b>	<b>#</b> 50.00	<b>#</b> 400.00	<b>#</b> 000 00	<b>#</b> 00.00	<b>#</b> 00.00	<b>#</b> 400.00	#050.00
MANHOLE	2	EA	\$15.00	\$30.00	\$25.00	\$50.00	\$100.00	\$200.00	\$30.00	\$60.00	\$129.00	\$258.00
FOR BASIC 0'-6' DEPTH, 5-FOOT DIAMETER MANHOLES, ADD TO ITEMS 5A AND 5B (ABOVE)		_,	<b>*</b> * * * * * * * * * * * * * * * * * *	****	<b>*==</b> • • •			<b>#</b> 4 000 00		****		
	2	EA	\$400.00	\$800.00	\$550.00	\$1,100.00	\$600.00	\$1,200.00	\$300.00	\$600.00	\$1,000.00	\$2,000.00
8 FOR EXTRA DEPTH, ALL 4-FOOT DIAMETER MANHOLES	4	VF	\$40.00	\$160.00	\$105.00	\$420.00	\$100.00	\$400.00	\$260.00	\$1,040.00	\$128.00	\$512.00
9 FOR WATERTIGHT CONNECTION TO EXISTING 4-INCH SERVICE PIPE (INSTALLED BY	25	EA	¢470.00	¢4.050.00	¢450.00	¢0.750.00	<b>#</b> 000 00	ΦE 000 00	€40E 00	ФО СОБ ОО	<b>\$055.00</b>	<b>#C 075 00</b>
PLUMBER), AS SPECIFIED, COMPLETE IN PLACE.	1,000	LF	\$170.00	\$4,250.00	\$150.00	\$3,750.00	\$200.00	\$5,000.00	\$105.00	\$2,625.00	\$255.00	\$6,375.00
10 FOR INTERNAL CCTV INSPECTION OF NEW SEWER LATERALS, AS SPECIFIED, COMPLETE	1,000	LF	\$4.00	\$4,000.00	\$2.00	\$2,000.00	\$4.00	\$4,000.00	\$6.00	\$6,000.00	\$7.00	\$7,000.00
FOR THE ADDITIONAL COST OF RESTRICTED WORK HOURS OF 9:00 AM TO 4:00 PM, PER	6	DYS	\$1,000.00	\$6,000.00	\$1,500.00	\$9,000.00	\$1,000.00	\$6,000.00	\$860.00	\$5,160.00	\$1,950.00	\$11,700.00
LOCATION, AS SPECIFIED	- 0	DIS	\$1,000.00	\$6,000.00	\$1,500.00	\$9,000.00	\$1,000.00	\$6,000.00	\$660.00	\$5,160.00	\$1,950.00	\$11,700.00
FOR THE ADDITIONAL COST OF RESTRICTED WORK HOURS OF 6:00PM TO 6:00 AM, AT NIGHT												1
AND/OR WEEKENDS OF 6:00 PM FRIDAY TO 6:00 AM MONDAY, PER LOCATION, AS SPECIFIED	2	DYS	\$1,000.00	\$2.000.00	\$1,800.00	\$3,600.00	\$1,200.00	\$2,400.00	\$1,725.00	\$3,450.00	\$3,700.00	\$7.400.00
		DIS	\$1,000.00	\$2,000.00	\$1,800.00	\$3,600.00	\$1,200.00	\$2,400.00	\$1,725.00	\$3,450.00	\$3,700.00	\$7,400.00
TOTAL BID SANITARY SEWER ITEMS		+-		\$376,690.00		\$518,695.00	<b> </b>	\$556,850.00		\$585,885.00		\$647,740.00
TOTAL DID SANTIARY SEWER HEMS	-	+		φ370,090.0U		φοιο,ο9ο.00	-	φοοσ,σου.00		φοοο,σοο.00		φ047,740.00
TOTAL BID COMMON ITEMS	<b> </b>	+-		\$673.744.50		\$549.565.50	1	\$629.436.50	<b> </b>	\$640.717.00	<b> </b>	\$783.297.63
TOTAL BID CONINION TEINS	<b> </b>	+-		φυι 3,144.50		φυ <del>49</del> ,505.50	1	Φυ∠ઝ,430.30	<b> </b>	φυ4υ,/17.00	<b> </b>	φ103,291.03
TOTAL BID WATER ITEMS	-	$\vdash \vdash \vdash$		\$827,230.00		\$889,910.00	1	\$1,002,225.00		\$1,009,376.00		\$1,217,785.00
TOTAL DID WATER HEIVO	<b> </b>	+-		φυΖ1,Ζ30.00		φουσ,σ10.00	1	ψ1,002,223.00	-	φ1,003,370.00	-	Ψ1,211,100.00
TOTAL BID SANITARY SEWER ITEMS	-	$\vdash \vdash \vdash$		\$376,690.00		\$518,695.00	1	\$556,850.00		\$585,885.00		\$647,740.00
TOTAL DID SANTIART SEWER HEIRS	<b> </b>	+-		φ310,080.00	-	φυ 10,090.00	1	φυυυ,ουυ.υυ	<b> </b>	φυσυ,000.00	<b> </b>	φυ+1,140.00
TOTAL BID COMBINED	-	$\vdash \vdash \vdash$		\$1,877,664.50		\$1.958.170.50	1	\$2,188,511.50		\$2,235,978.00		\$2,648,822.63
I TO LAC DID COMBINED	<u> </u>	L		ψ1,011,004.50	I	φ1,συυ,170.30	11	μ∠,100,011.30	II	φ∠,∠υυ,∀10.00	II	ψ∠,∪+υ,0∠∠.03